4 CHORERD (1)

[aekiiie=s

Ny R RV

BRIETS
RFvD
Berr—
()

BekU—

D
TS5AFvD

i TASIEY)

#/ Xy D U5k
DIEREBD
HZ%

ETH

FERRH

=

mg8thh

28m

PR

28m

B

BR™

=

gUW7H

SWH

BEEm

AVANANSE)

GED

FED

w5t

=)

REH

m % g

SR

JI| % 8y

]

B3 70 &7

AEH

X 3 8

EsH

A fic |7

FIPEAHE]

#o bt |y

10 3 8]

#2 & 8]

By &t

B &t




4 CHOWRERD (2)

mEE

Ny ik
U

gekL—

EUAND
TS5RFw
2

i TASEY)

#/ Xy D56
DIfREER
;}:

£TH

FERMAMH

2

hE
fl

2t

0i0i0

(GHeHe)

(GHOHE)

0i0io

0i0i0

G}@)

0i0

0:0; 0:i0:i0; 0:i0;0;00!0

14

11

14

Ol |0i0:i0i0; 00

o1 10] [010:0:0; 00

01010

=N

JI| 7% 8y

AL

B8 70 @7

ABH

X 9 8

ERY

A fo 8y

FIRERE]

fic dv &

1D S ]

fic & @]

010101 10

O1 1010101010100

010;010;0;010;0100101010 O] [010:I0I0I0I0I0I0I0I0I0I0I0I0

010} 101010101010

O101010101010100I0I0I0I0I0I0] [OI0I0I0I0I0I0I0I0I0I0I0I0I0

g1 &t

10

14

11

15

B &

19

28

22

29




4 CHOWRERD (3)

HErE

P

m

>

Ny ik
U

gekL—

EUAND
TS5RFw
2

i TASEY)

#/ Xy D56
DIfREER
;}:

£TH

FERMAMH

R

Oi0

0101 107 1010

(i gty
SHIEUHEH
dtidtiatiatiot

@)

JI1 7% 8y

Oi0

O10

010

L]

B8 70 @7

ABH

X 8

ERY

A fo 8y

FIRERE]

fic dv &

1D o ]

fic & @

010

g1 &t

B &t

10




4 CHOWRERD (4)

hErE

Ny ik
U

gekL—

EUAND
TS5RFw
2

i TASEY)

#/ Xy D56
DIfREER
;}:

£TH

FERMAMH

0101000010

13

11

14

11

ol |0 100

01010

ele}{e] I [CHeHeHeHO N CHOHENHCHOHOHIN®)

=N

JI| 7% 8y

AL

01010

B8 70 @7

ABH

X 8

ERY

A fo 8y

FI R ERE]

O 10101 1010

fic dv &

1D S ]

fic & @]

O10101010101010I0I0I0I0I0I0I0]  [010I0I0I0F 1010000000

Oi0I0I0F 10101 1010

OI0I0I0} 10101 10I0I0I0I0I0I0] [OI0I0I0I0I0I0I0I0I0I0I0I0I0

010100} 1010 1010I0I0I0I0I0] O 1000

g1 &t

15

11

5y

13

13

B &t

28

22

'S

27

24




4 CHOWRERD (5

=S [EY
§%7\§§§g E5C AN
o N 2 v solAND S TASESD)

S R PR TEel |- | I52Fy | wiwo andws| ton | mams IR

L —%F 2 =

Q)

2 m O O
mymmh O O
EETs O O
N O O
22M
SEm O O
ZR™
EEZm
gum O O O
SPm
M
[AYAANG] O
[[in) [;é FE
PEH O O
mF 1 0 1 0 7 7
A S UPET O O O
=860
w85 8
=)
JI| % @7 @) O
B
85 A0 87 O O
ABH
X i 67 ©)] O
ER
A fc B
EEEL]
%o b 87
fit) S 8]
fo = @
B it 1 0 0 0 4
8 &t 2 0 1 0 11 11




